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- On the design of object-oriented programming features of the inheritance,

function polymorphism and encapsulation, Please describe the meaning and

advantages of these three features. (20 # )
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MAENFE T - BEREY v B (4 bytes) @ gt

i 71 (Statements) s 1 E (X 58 J1eh B B AR) -
(@) printf ("%x \n" > &A[O][1][2]);

(b) printf ("%x \n" > &A[0][1][2]+1);

(c) printf ("%x \n" > &A[Q][1]+2);

(d) printf ("%x \n" > &A[0]+3);
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On the design of object-oriented programming features of the inheritance,
function polymorphism and encapsulation, Please describe the meaning and

advantages of these three features. {20 %)

Z
35 42 84 5% (inheritance) ~ & %X, % # (function polymorphism ) %244 % (encapsulation) 2
PRUBEELEEWT A
el 5 2R &%

BT — AR RlAkERE | T RA A X 5 F (reuse) 0 R EAE
SRS B IR BRGNS T ZRBEE o ok A - B - iR
AR o FEA T OB A AT LR BEHERK-

HBMEBIRE LT AN R ER
LEE i

UCHH 2 5] » B5FEAMNAR > T A
#A 5| B4% A public & private % M 4 F
A4 ol doclass B public A -

AR REE B RBTEA B | BARGRAE  WREB%HE T
RS IR A B B ey I AR B ABFTEBAE S HPATHEN » BbT
TR AT E 2 R $2 0018 B Y HUAT R -

i R, SACAH+ B 4] s CHH88 SRR B T SAvirtual
| murEseRuiARRAE b
R ATFHENPEMAL A2 R
spofigsb B B A ME LR

B 0 98 TR LA R B A AT R

#1R (X7R)




S BT A AMEAR A b 2 B 4
RS -

|

W7 AP 4B A B R M
O AR B -

HK BACH B4 > R utdas](class) B &

WHEAMER TUEBHN T TLE
OB )R BB MY B SR AR

R ARt Esse  RET
B W o R A SRR S
SRR ALY HBEBHETRARLY
R RS H A HRTER QW
L& # (Information hiding)fF# & # -

b

% b —E& KX Count(n) » s XTI HE ()R EPhFT "A" &

B RF fn)z CCHIEBTRARF T AR i 5 Count(n)ah I3 A3

B BARTHA Om) e (204

int Count{int n} {
if(n==1)
return 1
else if (n==12)
return 3;
clse {
intiteml = 1;
int item2 = 3;
int item3 = 0;
for (inti= 3; 1 <=n; i++) {
item3 = item2 + 2*item|;
item1 = item?2;
item2 = ilem3;
}

roturn item3:
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(a) printf ("%ox \n" * &EA[OJ[1]{2]);

(b) printf ("%x \n" * &A[O}[1][2]+1),

(c) print{ ("%ox \n" + &A[C}[1{+2),

(d) printf ("%x \n" > &A[0]+3);

% ¢ int Al4[{8]{16]
(a) printf ("%x \n", EA[O][1]{2D);
A2F760 + 4*(0*8*16 + 1*16 +2) 2 A2T7AS
(b) printf ("%x \n", KA[0]{1](2] + 1);
A2FTA8 + 1*4 2 A2FTAC
(¢) printd ("%x \n", &A[OQI[1] + 2);
A2F760 + 4¥(0*8*16 + 1¥16 + 2%16) -> A2F820
(d) printf ("%x \n", &A[0] + 3);
A2F760 + 4*¥3*8*16 = A2FD6N
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(2). #8514 4% member > 24— HEH D —EEHR SCORBE(SA L A% B 277
AL R A public) (8 &)
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(¢). 1 th #% Employer 7] ¥ £48 7L F 69 SCORK Au 13 d4R KX A & (6 %)

o

i/ (8) & %member#A
class member{
public :
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int 11);
int SCORE;
}

/f (b) £ & Employcri /4 1 54
int main{ ){

member Employer[30];

/() B30 F 5#HSCOREMLS
for(int i = 1 < 30; i++) {
Employct|i]. SCORE += 13;
}

%~ BT -85 X (Recursive Function) © int Sum_of Digits (int n) = & 1%
A—EEH 0% B AT n AR A TR AT R LB P HF e
4o ¢ 3 int n=3456 5 int k = Sum_of Digits(n) + B k 8948 & 3+4+5+6 4L =
I 18 ¢ 3 int n=98 5 intk = Sum_of Digits(n) 5 &I k ¢4 & 9+8 A FH
17+ (204)

int Sum_of Digits(int n){

iftn <) return(-1); /* A ZEF %

if{ n==0) return(0),

else return (Sum_of Digits (0/10) I (n%10)); }
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#include <stdiib.h>
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#include <stdioc.h>
#include <time.h>
#inciude <conio.h>
#include <math.h>
void main{)
{
int p,c=5;
long num|[ 100],1,j,k=0;
clrser();
randomize();
for (i=0;i<100;i++)
num[i]=0;
for (1=0;1<20000;i++)
{p=random(99)+1;
num[pl=numfpl+1;}
while (¢>0)
{k=0;
for (i=1;i<100;i++)
{ if{num{[i]>=k) k=numli];}
for (i=1;1<100;1+1)
{

if (num{i}==k)

{
printf("%161d(%2d)\n" ,num[il,i);
num{ij=0;
c-=1;

s RE-AXARAE 19990 2 e EEERATE AT B(prime) © £
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ANS: (M C#EEAH)
#include<stdio.h>
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int prime(int);
int main{)
{
int 1;
for (i=1;1<10000; i++)}
il (prime(i)}
printf("%d is a prime\n", i);
else
printf("%d is not a prime\n”, i};
return §;
}
int prime(int n)
{inti;
for (j=2;)<=n/2;j++)
if (n%j==0)
return O
return 1

As 3EEA Overloading 698 & %3 — 8 #8.9] (class) @ s A2 3 WAL
(method) T - 48 23 R 4 AR L B PR KB B3 @ F ko 6 HE
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ANS: (1 Java &9 )
class MaxClass{
inf max{int a, int b){
if(a>b) return a;
else return b;}
int max(int a, int b, int ¢){
int m;
if{a>b) m=a;
else m=b;
if{c>m) return c;
clse return m;}
int max(int a, int b, int ¢, int d){
int m;

if(a>b) m=u,
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else m=h;
il{c>m) m=c;
if(d>m) return d;

else return m; }

o ARSI Overriding ? 33 8 473%5h — ME 8% (class) ) » dafl P RA
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class Animal{
public int getlegs(){
return legs;

;

class Horse extends Animal{
public int getLegs(){
rcturn legs*2;
}
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